
Задача II-2. ПРОИЗВОДСТВО МЕТАНОЛА 
 
II-2-1  

n[CO, β] = 3/2 × n[CH3OH, γ] = 1500 моль⋅с–1 
n[H2, β] = 3 × n[CO, β] = 500 моль⋅с–1 

 
II-2-2  

n[CO, γ] = n[CO, β] - n[CH3OH, γ] = 1500 - 1000 = 500 моль⋅с–1 
n[H2, γ] = n[H2, β] - 2×n[CH3OH, γ] = 4500 - 2×1000 = 2500 моль⋅с–1 

 
II-2-3  

n[CH4, α] = n[CO, β] = 1500 моль⋅с–1 
n[H2O, α] = n[CO, β] = 1500 моль⋅с–1 

 
II-2-4  
p[CO, γ] = 1.25 МПа 
 
p[H2, γ] = 6.25 МПа 
 
p[CH3OH, γ] = 2.50 МПа 
 
Ваши расчеты: 
 
ntot = 1000 + 500 + 2500 = 4000 моль⋅с–1 
 
p[CO, γ] = (500/4000) × 10 МПа = 1.25 МПа 
 
p[H2, γ] = (2500/4000) × 10 МПа = 6.25 МПа 
 
p[CH3OH, γ] = (1000/4000) × 10 МПа = 2.50 МПа 
 

II-2-5  
Ответ Kp = 5.12⋅10-4 
 
Ответ Tγ  = 630 K 
 
Ваши расчеты: 
 
Kp = (2.5 × 0.12) / (1.25 × 6.252) = 5.12⋅10-4 

 


